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Vol. | Na+ | OH- | H+ | CI- | Vol. A B
HCI
0 100 | 100 | O O | 100 | 2491 | 24,91
20 | 100 | 80 0 20 | 120 | 2245,8 | 18,72
40 | 100 | 60 0 40 | 140 | 2000,6 | 14,29
60 | 100 | 40 0 60 | 160 |1755,4| 10,97
80 | 100 | 20 0 80 | 180 |1510,2| 8,39
100 [ 100 | O O | 100 [ 200 | 1265 | 6,33
120 [ 100 | O 20 | 120 | 220 (2117,8 | 9,63
140 [ 100 | O 40 | 140 | 240 [2970,6 | 12,38
160 | 100 | O 60 | 160 | 260 | 3823,4 | 14,71
180 [ 100 | O 80 | 180 | 280 [4676,2| 16,70
200 | 100 | O | 100 | 200 | 300 | 5529 | 18,43
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